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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

1) 22+12=

2 4+4=

3 4+1=

4 241=

5 94+1=

6) 852+ 126=

7 9+2=

8 88+1=

9 51+8=

10) 8+2=

11) 496 + 361 =

13) 111+9=

14) 11+5=

15) 87+33=

10.

11

12.

13.

14.

15.

Risposte
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ﬂh Addizione (orizzontale) Nome:

Soluzioni
Risolvi ogni problema. Risposte
1) 22+12= 34 u
1.
2 4+4= 8 2 38
3, 5
3 4+1= 5
a 3
4) 2+1= 3 95
5.
5 94+1= 95 6. 978
7. 11
6) 852+ 126 = 978
8. 89
7 9+2= 11 59
9.
& 88+1= 89 10. 10
1. 857
9 51+8= 59
12. 4
10) 8+2= 10 13 120
11) 496+361= 857 1. 16
15. 120

12) 3+1= 4

13) 111+9= 120

14) 11+5= 16

15) 87+33= 120
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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

{

978
89

59 8
11 10

34

: ]] 1.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

22+12 =

4+4=

4+1=

2+1=

M +1=

852 + 126 =

9+2=

88+1=

51+8=

8+2=

10.
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